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Let A={123,4}andB = {4,8,9,10}. A functionf: A — Bgiven by _ c
f=1{1,4),(2,8),(3,9),(4,10)} is a C

(1) Many-one function (2) Identity function
(3) One-to-one function (4) Into function
If f(z) = 2¢* and g(z) = % then fog is
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If f: A— B isabijective function and if n(B) = 7, then n(A) is equal to
(1)7 (2) 49 (3) 1 (4) 14
Let f and g be two functions given by

f=1{(0,1),(2,0),(3,-4),(4,2),(5,7)}

g ={(0,2),(1,0),(2,4),(—4,2),(7,0)} then the rangeof fogis

(1) {0,2,3,4,5} (2) {-4,1,0,2,7} (3) {1,2,3,4,5} (4) {0,1,2}

Let f(z)= 1+ 2* then

(1) fzy) = f(z).f(y) (2) f(zy) 2 f(z).f(y)

(3) flzy) < f(z)-f(y) (4) None of these

If g ={(11),(23),(3,5),(4,7) } is a function given by g(z) = az + 3 then the values ¢
a and 3 are

(1) (-1,2) (2)(2, -1) (3)(-1,-2) (4)(1,2)

f(z) = (z+1)" — (2 — 1)’ represents a function which is

(1) linear (2) cubic (3) reciprocal (4) quadratic
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